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151 Match List I with List 1] ¢

. List 1

(Sub Phases of
Prophase 1)
Diakinesis

List 11

(Specific
clmmclers)
Synaptonemal
complex formation
Completion of
terminalisation of
chiasmata
Chromosomes
look like thin
threads
Appearance of
recombination
nodules

Pachytene 11.

1.

Zygotene T

D. Leptotene

IV.

Choose the correct answer from the options given

below :

(D_,A-L B-1I, C-IV, D-IIT
A-1I, B-TV, C-I, D-III

(3) A-IVBIH CII D-1I

(4) A-1V, B-II, C-I11, D-1

152 W the following statements :
Annelids are true coelomates
B. Poriferans are pseudocoelomatese—"
C. Aschelminthes are acoelomates -—— X
D. Platyhelminthes are pseudocoelomates A&
Choose the correct answer from the options given
belo
A only
(3) Donly

X

(2) Conly
(4) Bonly

153 Match List I with List Il :
List 1

P List IT
A. Pons \/l}

Provides additional
space for Neurons,
regulates posture
and balance.
Controls
,resplratlon and
gastric secretions.
Connects different
regions of the
brain.

Neuro secretory
cells )
Choose the correct answer from the options given

below
\(.L)/K-Tu B-1V, C-11, D-I

(2) AlBllIClIDIV
3) AllBlClllDIV
4) A-ll, B-lI, C-I, D-IV

154 Which of the following factors are favourable for
Pte]l]’ert(rlnanon of oxyhaemoglobin in alveoli?
High pO, and Lesser H" concentration
(2) Low pCO, and High H* concentration

(3) Low pCO; and High temperature
(4) High pO, and High pCO,

L.

B. Hypothalamus\\/ 1L

C. Medulla ITT” 1.

D.

Cerebellum T IV.
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151 trhlm“rfri’tn%muqﬁf‘nm

Th I

(Frfarez F12m7)
frrer e aftas
BT f‘m?vr

(';a‘mm k] amm)
A. ureafass

B. wamez

b S L

agee

= el & Géy ST & 9gT Fa:
(1) A-L B-II, C-1v, D-IIT
(2) Al B-1V, C-I, D-IIT
(3) A-1V, B-1II, C-I, D-I
(4) A-IV, B-II, C-ITI, D-T

e Al X fE &

A. RS g TEE A ¥

B. Ui §Z TEE B €

C. dpetide ohpEE B ¥

D. <R gz EE A §
ﬁﬁﬁﬁ@fﬁ%ﬁﬁﬁﬁmﬁ
(1) *aw A (2) @ C
(3) F@D (4) &I@ B

153 @Iﬁtﬁﬁll%ﬁﬂgﬁfiﬁﬂ?ﬁ—

T IO

S IECAIRIC S iea]
SrfaTad T 9&H
m% ﬂaﬁfai‘r{

152

A. 1.

"B, TEWEEHA

C. wsygal I11.

D. sgARass SV, dfeEral BRI
et Rrepeal § W& SR @1 99 BA:
(1) A-IIIL, B-1V, C-11, D-1
(2) A-lL B-llI, C-11, D-1V
(3) A-l, B-L C:I11, D-1V
4) A-l1, B-IIL, C-I, D-1V

@fﬁwﬁﬁwﬂ%aﬁﬁ%me{w—ﬁtﬁfa\ﬁﬂmﬁ
. % TN o ¥ 2

)} ﬁpozmﬁa{@amkﬁ

(2) &4 pCO, e Tea H* wigan

(3) @ pCO, Td vea amshd

(4) s\ pO,wWI=H pCO,

»
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155 Following are the stages of cell division ¢
A. Gap 2 phase B. Cytokinesis
C. Synthesis phase D. Karyokinesis
E. Gap 1 phase
Choose the coru&t‘equcme of stages from the
“options given beldW \‘2/,5
(1) E-B-D-A-C WD B-D-E-A:C
3) E-C-A-D-B{D (4) C-E-D-A-B
156 Three types of mistles are UVCI] as a, b and c.
Identify the correctimatching pair along with their
location in human body :
Nameof muscle/location
(a) Skeletal - Triceps
(b) Smooth - Stomach
(c) Cardiac - Heaxst.
(2) (a) Skeletal - Blceps
(b) Involuntary Intestine
(©) SmoothC eart.
(3) (a) Involuntary - Nose tip
(b) SkeletaliszBone
(c) Cardiac giHeart.
(4) (a) Smooth - Toes
(b) Skeletal Legs
(c) Cardiac® “Heart.
157 Match List I with List II :
ListI List IT.
A. Down’s syndrome I. 11" chromosome
B. oz-’l“halassemia“:J . II." *X’ chromosome
C. B-Thalassemia®™} III. 215t chromosome
D. Klinefelter’s #* V. 16! chromosome
syndrome L ¥
Choose the correo%hnswer from the options given

below : . |
\83/(-" B-I1I, Q—[V D-I
A-11I, B-1V, C-1, D-II
3) AIVBI C-11, D-111
4) A-lL, B-II, Clll D-IV
158 Which of the

disorders?

A. Myasthema ravis
B. Rheumatoudéu‘thntxs /
C. Gout

D. Muscular dystrophy

{o lowing are Autoimmune

E. Systemic Lupus Erythematosus (SLE)\/

Choose the most appropriate answer from the

options-given below :
‘(\H):XSAI; & Eonly (2) B,C&Eonly
(3) C,D&Eonly (4) A,B&Donly
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155 A @ifdesr fervmar a1 arereemd €1 78 ¥

A. Y 2 greaeen B. @iy v
C. dgergor grawm D. %= fawes

E. 99 | green,
ﬁmmﬂﬁﬁmeﬂ’r%vé‘rwmwmﬂ
(1) E-B-D-A-C (2) B-D-E-A-C

(3) E-C-A-D-B

(4) C-E-D-A-B

a,b@c%smﬁzﬁqma%&sﬁ%né%lgﬁm
wﬁrmwsﬁﬁmﬁaﬁfaﬁwﬁq
]
4) (a) faet - uii
(b) g — 2
(c) Tw@—%™
@Iaﬁvﬁll%magﬁﬁawﬁ—
TR @
A. s figm Lo at e
B. o-dwifen TIL X e
C. B -t IL 21 o
D. FwgTheeR fagm V. " 163t Torgs
=1 faheal & W& SO &1 wgE &
(1) A-II, B-III, C-1V, D-1
(2) A-IIIL, B-1V, C-1, D-11
(3) A-1V, B-l, C-II, D-111
(4) A-1, B-l1, C-III, D-IV
= & o Tt faewr ¥ 2
A.  aEwt AR
B. wA3Ts Wiy My
5. g
D. Q
E. fiefie wgua ofdidey (Tauwd)
ﬁﬂﬁmﬁmaﬁwwwwﬁ :
(1) ¥aw A,BRE (2) ¥aw B, CARE
(3) ¥aw@ C,DRE (4) Faw A, BaitD

S cﬁ“t-d“‘
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159 Given bck?w are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R : !

Assertion A : FSH acts upor ovarian follicles in
female and Leydig cells in male.
Reason R : Growing ovarian follicles secrete
estrogen in female while intérstitial cells secrete
androgen in male human being.
In the light of the above staiemenls choose the
correct answer from the options given below :
(1) Both A and R are true but R is NOT the
correct explanation of A.
is true but R is false !
A is false but R is true.’'
(4) Both A and R are true hnd R is the correct
explanation of A. ; U
160 Given below are two statements :
Statement I : In the nephron, the descending limb
of loop of Henle is impermeable to water and
permeable to electrolytes. F
Statement II : The proximal convoluted tubule
is lined by simple colunfnar b order
epithelium and increases the surface area for
reabsorption.
In the light of the above statements, choose the
correct azaswer from the options given below :
Wﬁ Statement I and Statement II are false
(2) Statement]I is true but Statement II is false
(3) Statement I is false but Statement II is true
(4) Both Statement I and Statement II are true

r,‘.

(@)

161 Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : Breast-feeding during initial period
of infant growth is recommended by doctors for
bringing a healthy baby. /(”

Reason R : Colostrum contains several antibodies
absolutely essential to develop resistance fot the
new born baby.

In the light of the above statements, choose the

most appropriate answer from the options given

below :
(1) Both A and R are correct but R is NOT the
correct explanation of A. -

(2) A iscorrect but R is not correct.

3) s not correct but R is correct.
( Both A and R are correct and R is the correct
“explanation.of A.

-
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TAL BT GG HA

(1) @i A ot R @ & g R, A T TE TEHTIT
T T (95

) Aw%a%akda’a%u

3) Am%éﬁmR‘#&a%l

4) ﬁAaﬁTRW%a?TR A E @ |

s

2 @ wua g @ E:

Fal: qmﬂﬁ%ﬁﬁmﬂaﬁaﬁﬁég’w‘ﬂﬁﬁ?m
W%aﬁtﬁ@—m'%mm%'
Fa Il aﬁmwﬁ«aﬁ%mwmgﬂw
m%aﬁﬁ?ﬁ%aﬁgwﬁﬁw%%{waﬂ
ﬂﬁ%ﬁﬁ%l Wy
wﬁqmmuﬁ%m@ﬁﬁwﬁm%aﬁw
BT TIT DU sud

(1) 3 Faa 1 ofik w1l orae ¥

(2) ®u 1 aA ¥ Al a1 o1 ¥

(3) wu 1 ot ¥ Wit b 11§ ¥

') aﬁ?ﬁaamlahmﬁ‘llw%l

A 2 o el R s Y e A o g
FROT R 3| W

AFUA A ’mg%mﬁm%mwa%q@%
i wre ¥ $o gaalae steet Ry & WA
HO B TeE y E e

FO R : SAEH ¥ %3 Yo 6 Jiell 8 & s
Hamf?mﬁuﬁmtﬁmw-——rwasﬁmw
SMATH B 8 | “d
wﬁquuﬁ%mlﬁ%ﬁthm%
T & ITR B GG HU:

(1) aﬁ:ﬁAaﬁtRaﬁ‘Eﬂ%\mR Aasmé’rwé’ﬁwr
T ® _
AH‘@%WRT@?{%I Bl
ATEEARFEARTAEL
T A 3T R & ¥ &R, Aawﬁmﬁww%l

(2)
3
(4)
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162 Match List I with List 11 : 162 gt [ &t g 11 % s gafera HU-
List 1 List 11 T ki1l § PR
A. Cocaine 'l;ﬂ_/ I.  Effective sedative in A, ¥ .  steafpat & gurdr om¥s
' sorgety B. fedz Il &fnr dergar
| B. chnn.\\/ ' l]. Cannabis sativa- C. it 11, Bfreomse
| C. Morphine ¥, 1. Erythroxylum D. ey iV giefider
1 D. Marijuana:u- IV. Papaver somniferum ; ‘\‘m : .
| Choose the correct answer from the options given Pret ey & aédl st = wO:
| below : (1) A-I, B-III, C-II, D-IV
(1) A-1, B-1IL, C-11, D-1V (2) A-Il, B-I, C-11, D-IV
| (2)~A-11, B-1, C-ll1, D-1V (3) A-III, B-1V, C-I, D-II
) A-IL, B-1V, C-], D-11 (4) A-1v, B-I11, C-1, D-IT
(4) A-V; B-IL, C-I, D11 -
163 Match List I with List I : 163 g I Tl 1% =17 g B
List I List II T T I
A. Prerophyllum™T 1. Hag fish ' A. éﬁ@WﬂT I % feer
B. Myxine J= II. Saw fish B. fdarT II. oo gedh
C. Pristis-JI— HI.  Angel fish C. =g M. Ot 9o
D. Exocoetus SZ_ IV. Flying fish D. uwifyed IV. 329 98l
Choose the correct answer from the opti i ' et ¥ - >
belot the options given o Rrepedy | w8 s @ T B
\(—1’)%, B-L, C-II, D-IV (1) A-IL B-I, C-II, D-IV
(2) A-IV, B-1, C-IL, D-III (2)-A-IV, B-I, C-IL, D-III
(3) A-HI, B-II, C-I, D-IV () A-IL B-IL, C-I, D-IV
(4) A-IL, B-I, C-III, D-IV (4) A-IL, B-1, C-IIT, D-IV
164 Match List I with List 11 : 164 et I ot gt 11 3 wver g -
List I List IT T - CLE | S
A. Pleurobrachia]l. 1. Mollusca A. wRisfBer L S
B. Radula T II. Ctenophora B. Witwen . Jwra
C. Stomochord™F  IIl. Osteichthyes C. BHas M. sifeeis
D. Airbladder " IV. Hemichordata : D. g @ IV. e
Choose the correct answer from the options given 5 -
below . phions g Pt raedt @ w8 s @1 =
M B-I, C-IV, D-IIL. ~ (1) A-IL B-l, C-1V, D-111
(2) A-II, B-1V, C-1, D-III (2): A-IL, B-1V, C-1, D-11I
(3) A-1V, B-III, C-II, D-I 3) A-1V, B-11, C-I1, D-1
(4) A-1V, B-II, C-1II, D-I . -4 AV, B-II, C-I1I, D1 . ‘
165 In both sexes of cockroach, a pair of jointed 165 frerarz 3 <t it T S WWW
filamentous structures called anal cerci are present o T FEd ¥, Sufed € 3
on: (1) 1089Es X (2) SR NATs
(1) 10 segment  Y)~8M and oth segment 3 N¥Esw 4) SAEsw
(3) 11" segment (4) 5thsegment
166  The flippers of the Penguins and Dolphins are | 166 Uftem ofX Sifvew % Rt serexor &
the example of the (1) i axor @t
(1)_sNatural selection ; (2) srhErd frar @
Convergent evolution (3) arErd R @ ke
(3) Divergent evolution e fafetor SN
(4) Adaptive radiation ) .. A

R6_Hindi+English | 38 [ Contd..



https://t.me/NEET2024ANSWERKEY

| ¥

FOR ANSWER KEY CLICK HERE

pE

Which of the following statement

(1) M.os.t commonly used big-y
rring type.

Bio-reactors are used to produce

bacterial cultures.

Bio-reactors have an

an oxygen delivery systei

system.

A bio-reactor provides optimal growth

conditions for achieving the desired product

167
vpy O TE—
cactors are of

small scale
(3) agitator system,
n and foam control

“4)

Which one is the correct product of DNA
dependent RNA polymerase to the given

template? X
3*TACATGGCAAATATCCATTCAS®

(1) 5>AUGUAAAGUUUAUAGGUAAGU3’
(2) $>AUGUACCGUUUAUAGGGAAGUS3’

(3) 5’ATGTACCGTTTATAGGTAAGT3’
(1) 5" AUGUACCGUUUAUAGGUAAGU3’

168

169 Match List I with List IT :

ListI List IT
A. Fibrous joints I.  Adjacent
' vertebrae, limited
‘ movement
B. Cartilaginous II. Humerus and
joints Pectoral girdle,
rotational
. movement
C. Hinge III. Skull, don’t
joints allow any
movement
D. Balland IV. Knee, help in
socket joints locomotion )
Choose the correct answer from the options given
below :

(1) A-L B-lI, C-II, D-IV

\gﬁ)/,o.-u, B-1I, C-I, D-IV
: A-I11, B-1, C-1V, D-II
(4) A-1V, B-I, C-1II, D-I

170 Match List I with List II :
List I List IT
A. a-lantitrypsin @ 1.  Cotton bollworm
B. CrylAbyv , II. ADA deficiency
C. CrylAct [1I. Emphysema
D. Enzlyme IV. Corn borer
replacement :
therapy a4 .
Choose the correct answer from the options given
below :

WU}, B-I, C-11, D-1V
A-111, B-[V, C-1, D-1I
(3) A-II, B-1V, C-1, D-1II

>

(4) A-I B-1, C-1V, D-III
R6_Hindi+English ]
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| 167 frest apersit & ser it wrerat & 7
(1) fucivss gart & Aot
3 ¥
Hnﬁﬁmtm}é}mﬁmm&a%m
¥ Rorer weredrer & ey i ¥ .
Aoz ¥ udh warh e, T WETd
51 tret g P <fs A % ‘
awﬂqﬂmmm%l

waffas saar o
(2)
(3)

4

4

168 o g Zerdve ¥ frey Sy Rre ST A (T

SHY ! prc

T ek [ T TA A s

(D 5’AUGUAAAGUUUAUAGGUAAGU3 2

2 5’AUGUACCGUUUAUAGGGAAGU3’

3) 5 ATGTACCGTTTATAGGTAAGTB ?

@ 5 ’AUGUACCGUUUAUAGGUAAGUB %

PUCY Ll LU AV A 66 ARG

169 T 1 ge 1l & g gard Ba—

T 1 T I
A. Yohva aftmt I Prebeadl B9,
] o #ﬁﬁﬁ’ﬁ?{
B. SuiRe ga I gaE o & |
Wt e, goit
C. e el . T, His T,
& Bl
D. &gh @il IV. g, 9o |
fore Rreedt & T I T, TAT HA:
(1) A-L, B-IIL, C-1I, D-IV
(2) A-IL, B-III, C-1, D-1V
(3) A-IIL, B-I, C-1V, D-II
(4) A-1V, B-II, C-III, D-1
170 gt 1 %) g 11 3 | gatd &a— »
a1
A. -1 @AfRaA L.
B. mElTs 1L
C. silux 111
D. USgH Wi V.
fafewmen
(D) A-II, B-1, C-11, D-1V
(2) A-ll, B-1V, C-1, D-II
(3) A-II, B-1V, C-1, D-1ll
@) A-l B-1, C-1V, D-111

39
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171 Mateh List 1 with List 11 : Q?h E?!Fh 112 v w0
- ListI List 11 GSll gsinte
A. Axoneme M. I.  Centriole A. ST . ai&e=
B. Cartwheel 1. Cilia and flagella B. &wmrdy % ufsu II. gz ud BemieT
pattern =g, an s+t
C. Crista . 111. Cln'nn'msn;np C. Bre i
D. Satellite V. Mitochondria ’ - SRR
Choose the l\l)‘-r"cct answer from the options given Dﬁgé;;;% P IV. Htr\;misiﬁlail
below : MAMBEET &l 3T B TG :
(1) A-1V, B-11. C-H1, D-] (1) A-1v, B-I1, C-I11, D-I
W-]L B-1V, C-1, D-111 (2) A-II, B-1v, C-I, D-11
2 A-L, B-1. C-1V, D-11] (3)  A-IL, B-I, C-1V, D-III
(4)  A-1V, B-IL, C-11, D-1 (4)  A-1V, B-1II, C-I1, D-I
172 Following are the stages of pathway for 172 : o y _ _ e,
]c]g::ﬂ:lctiou of an action potential through the iﬁl ﬁqmw &4 IEB.% tn"rfﬁ.f‘; i:;« > ¥
A. AV bundle B. Purkinje fibres C. udiud - D. 4=« qm@m
C. AVnode ° D. Bundle branches E. uwguyud
E. SAnode ﬁwﬁwfi%mﬁ%&aﬁﬁmwmm—
c():pl:tci)c())s: 211? gl?ll;r:;:g‘ieguence of pathway from tlle (1) A-E-C-B-D (2) B-D-E-C-A
M A-E-C—B-D @) BDECA (3) E-A-D-B-C (4) E-C-A-D-B
N\Y) - (3) 'E-A-D-B-C * ME-C-A-D-B“ 173 91 3t pow Rg o & .
173 Given below are two statements : : &4 1 : Aiftresg a% Sufeafe g B
Statement I : The presence or absence of men ferserertrr gam w2 Ty
I8 not a reliable indicator of virginity: 4 11 : Tiivress Seae. geat S99 % S0 21 Bear
Stgtemel;t II: Ttgx men is torn during the first IUR AT T4 ey 19T Y f&w T faehedi § 99
coitus only. .
: I BT TG B
In the light of the abbve statements, choose the : T ¥
correct answer from the options given below : (1) < e T oiie ot 11 il 3
‘_(?]%/B_oth Statement I and Statement II are false 2) Hu I & afea wo 11 ara &
=) Statement I is true but Statement 11 is false 3) *u1 s ¥ AT waw I3 &)
(3) Statement I is false but Statement I is true (4) T w1 &iR B 11 v 3
(4) Both Statement I and Statement 11 are true
174 Match List I with List I - 174wl ? T IS e gifere 73t
List I List 1T | T T
A. Common cold * 1. Plasmodium A. T g™ L. "_'77"7}]%2717
B.  Haemozoin II.  Typhoid B. ‘ 11
C. Widal test III.  Rhinoviruses " C. fas@ qdiao 111.
D. Allergy IV.  Dust mites D. Ut V. o fagy
Choose the correct answer from the options given 1 el @ a9 I BTG B <4
( D AL, Bl C-I1, DIV (1) AL B-LIL, C:IL, D-1v
Atk ¢, s A (2) A-IL, B-L, C-I, D-1V
(3) A-IV: B-li, C-Iil, D-I (3) A-1V, B-11, C-111., D-1
(4) A-II, B-1V, C-III. D-I , - () AL BV, €1, D-1
175  Match List I with List II - 175l Lt et 1% v gitferr w1
List I List IT SRR T
A. Typhoid I.  Fungus A. TEwES I waw
B. Leishmaniasis I, Nematode B. it L i
C. Ringworm III.  Protozoa C. forad L woten
D. Filariasis IV. Bacteria D wreafafig IV' :

Choose the correct answer from the options given : A - S T
belo\v > ﬁlﬂ&lﬁtﬁaﬂaww aq'lm: o
WB-IU, C-1, D-11 (1) A-1V, B-lII, C-1, D-11 G 7
(2) A-II B-L, C-1V, D-II (2) A-lIL, B-L, C-1V, D-11 |

(3) A-IL, B-1V, C-III, D-I 3) A-lL, B-1V, C-l11, D-1
4) A-L B-lI, C-11, D-1V 4) A-l, B-III, C-11, D-1V

R6_Hindi+English | . 40



https://t.me/NEET2024ANSWERKEY

| FOR ANSWER KEY CLICK HERE

Match List I \;'itll List I :
(16 " pist

] List
A, Expiratory a L Expi:;ln
caPﬂC‘ty'N "U\uméo-iy weserve
9@,\, X Volumg Ld“-'
NSpiratory e
B Functioml. \/ 11 \'l,‘(')liml“e e
) | . : 1dal voly,
reSId“-‘zl, \ EXpiratory rege
capacity Vvolume ° erve
c. Vital capacityg 1. Tida] \‘/‘C&'llllﬁe+'
Inspiratory reser
. ‘Xf Volume ve
D. InSP"?tt;l)ry ~ IV. Expiratory resery
capaci NpS volume + Regidue;
) Pl t frvolume Residual
Choose the correct answer from the opt; :
below : g Prions given,

() A-IL B-IL C-IV, D-1
) A-LB-L CIV, DIl
(3) A< BAIIL CIL D-IV
(4y” AL, B-IV, C-1, D-III

Which one of the following factors wi
L the Hardy-Weinberg equilibrium? ‘."‘" notaifect
4)) Genetic drift
(2) fsene migration
Constant gene pool
(4) Genetic recombination

178 Match List 1 with List 11 :

List1 List II
A. Lipase ¥ I.  Peptide bond
B. Nuclease\v II.  Ester bond
C. Protease © I1I. Glycosidic bond

D. Amylaseny IV Phosphodiester bond
Choose the correct answer from the options given
below :

(1) AL, B, C-1, D-IV

-1, B-1V, C-I, D-III
(3) A-IV, B-l, C-111, D-II
(4) A-1V,B-I, C-111, D-1

179 Which of the following is not a component of

Fallopian tube?
(1) Isthmus (2) Infundibulum
(3) Ampulla \W/Uterine fundos
180 Match Lis i i :
ks t I with List Il : List II .
A. Non-medicated IUD . Multiled ens
B. Copper releasing IUD 1L P‘fogeSt?(;go
C. Hormone releasing IUD I1I. anpezo P
D. ImplantsZ] ‘ Tv. LN iven
Choose the correct answer from the options &
below :
A-l, B-111, C-1V, D-1I
-1V, B-1, C-11, D-II1
A-IIL, B-1, C-JV, D-11
(4) A-NL EoL G, DIV
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176 @{;ﬁx@n%mww—
1

AT A 11
o TREEe et [ Pryaea gaad
' arraer + varad
ST + S eaaTd
: araa
B. Bt arafye 11, v smEEA +
RG] . garea gLiad
A
C. & goran (1. warta amaad +
afer:gaa gad
. Fraa
D. sftgae aoar v, Proge giaa
STIA + FAfTE
ATaa
Pt Rl A wd) Tt @ TEA B

(1) A-III, B-I1, C-1V, D-I

(2) A-I, B-1, C-1V, D-III

(3) A-1, B-II, C-II, D-IV

(4) AL B-IV, C-I, D-III

ﬁfgﬂi A a1 T TSt A gt S g T
(1) aﬂgafsms ICEGE

(2) <F Y&

(3) RerxSmUw

(4) sngafyes grEm

178 g I %1 g 1L & wer gt -
T 1 T 1T

GIEEE| . U=EsEd
. gfeRAaS . TexsE"

C. wifewst Il EeEEEs 99
. V. SEHSEET 99
R Ryepeal & 8 IO B TG B

(1) AL B-1I, C-1, D-IV

2) A-IL B-1V, C-1, D-1II

(3) A-1V, B, C-IIL, D-II

4) A-1V, B-11, C-111, D-1

ﬁ-\'ﬁﬁ@ﬂﬂﬁﬁﬁmﬂ?ﬁﬂwqﬁ%?

(1) Eebwus

- (3) R

180 @Iﬁxﬁﬁn%magﬁmw—
a1

A, st TS L.

177

w >

o

179 .
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181  Which of the following is not a steroid hormone?
@) stosterone (2) ng::stcronc
\_(-3‘)/-(Ficlucagon (4) Cortisol

182 The following diagram showing rc‘slriclion sites
in E.coli cloning vector pBR322. Find the role of
‘X" and ‘Y" genes :

Clal Hind I

Pvu I

The gene ‘X" is responsible for controlling

the copy number of the linked DNA and ‘Y’

for protein involved in the replication of
. Plasmid.

The gene ‘X’ is for protein involved in

replication of Plasmid and ‘Y for resistance

to antibiotics.

Gene ‘X" is responsible for recognition sites

and ‘Y’ is responsible for antibiotic

resistance.

The gene X’ is responsible for resistance to

antibiotics and ‘Y’ for protein involved in

the replication of Plasmid.

@
3

)

Which of the following is not anatural/traditional
contraceptive method?
(1) Periodic abstinence

(2) Lactational amenorrhea 4
Vaults ‘

(4) Coitus interruptus

183

184  Given below are some stages of human evolution.
Arrange them in correct sequence. (Past to
Recent) :B
A. Homo habilis W
B. Homo sapiens
C. Homo neanderthalensis
D. Homo erectus
Choose the correct sequence of human evolution
from the options given below :

M-D -C (2) C-B-D-A
A-D-C-B

(4) D-A-C-B
185 The “Ti plasmid” of Agrobacterium tumefaciens
stands for
(1) _Tumor independent plasmid

\(2‘)/ Tumor inducing plasmid
(3) Temperature independent plasmid

(4) Tumour inhibiting plasmid
R6_Hindi+English ]
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181

182

183

184

185

frer oy Srigs T T E 7
(1) e (2) ST
(3) eI 4 ‘ﬁ'éié'a

e R o amra {ﬁaﬁmﬁﬂmmeD
%mmmaaﬁm%"x’@ ¥’ S %Y vfy
WWW"Gﬂ'

Cla [ Hind Il

Pvu ]I

S <X sifa Srag @t il deEr & s 3
g STEr # ofR <Y 99 W S v 5
ufireple & aftafed ¥
S X S WIS ST oS & Hiasta 3 ahafg
¥ ot Y’ witaifaes & wia afesie
S X 989 oA & foT STieE S ug <y
m%mm%mmﬁ%n

S X wfostfae % wfq giakig & fag saer:
T o Y o Wdm = taTi%qg % gfopha %
Hﬁ{ﬁmsﬁ%l

ﬁwr%ﬁﬁﬁ'%ﬁu@ﬁmmaﬂﬁﬁﬁwﬂr&r
e

(1) omafys g@w -

(2) WU

3) e :

(4) ®3ed sz

%Wﬁmﬁ@smﬁﬂé%rﬁﬁ(ﬂa%
M) &% TE B N ARk U

A. gt e

B. & dRgg

C. & fasdaglya

D. &t steew :

=t ferereat @ wr Rt % 98 mw @1 9@ B
(1) B-A-D-C (2) C-B-D-A

(3) A-D-C-B 4 D-A—C-B

TR egAHREaT % Ti wiies @ o
(1) =P @S WS 5

(2) =T W wiws

(3) TR WA WS

(4) = Pl s

(D

2
3
4)
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ZOOIOgy : Section-B (Q. No. 1§¢ (0 '2—()63“‘*
f Match List I with List1l: <% . \m]

8 List I ynix
RNA pdlymerase 111 1.
Termination of
transeription

List 11
ShRNPg

1. P

~ TATA box v,

Choose the correct answer from lﬁgfémg\s, tR'NA

pelow : ons given

Q) A-I11, B-I1, C-1V, D-1

@) A-IL BV, G, DI
A-1V, B-111, C-1, D-11

@) A-IL B-IV, C-I, D-1II

SESEIA-E S

ding catalytic cycle of

187 Regar ycle of an enzyme acti

select the correct sequential steps : yme action,
A. Substrate enzyme complex formation.

B. Free enzyme ready to bind with another
substrate.

C. Release of products.

D. Chemical bonds of the substrate broken

E. Substrate bindingto active site. p .
Choose the correct answer from the options given
below :

(1) AE,B,D,C ) B,A,C,D,E

3) E,D,C,B,A - E,A,D,C,B

188 Choose the correct statement given below

regarding juxta medullary nephron.

(1) Renal corpuscle of juxta medullary nephron
lies in the outer portion of the renal medulla.

(2) Loop of Henle of juxta m%gullary nephron
runs deep into medulla.

(3) Juxta medullary nephrons outnumber the
cortical nephrons.

(4) Juxta medullary nephrons are located in the
columns of Bertini.

189 Given below are two statements :
Statement I : Mitochondria and chloropla‘sts/are,
both double membrane bound organelles. ‘
Statement II : Inner membrane of mitochondria

is relatively less ermeable, as compared to
chloroplast. ’/[L

Inthelightofthe above statements,choose the most

appropriate answer from the options givenbelow:

(1) Both Statement I and gtatement Il are
incorrect.

(2). Statement Lis correct but Statement Il is
inc Tt.

G fatement 1 is incorrect but Statement 11 is
correct.

(4) Both Statement] and Statement Il are correct.
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43

186 4y [ &y gy 11 & @i q?fﬁﬂ?h’(““

187

188

189

A 7 11
A. arreers oiefyerar {. snRNPs
B. arevat H1 @ ([, o=ma®
C. 20F® H aae (1. B
D. TATA @ad [V, SnRNAs, tRNA
ﬁmﬁmﬁuﬁmzﬁrmwﬁ:

(1) A-I11, B-II, C-1V, D-I
(2) A-llL, B-1V, C-I, D-11 -
(3) A-1V, B-III, C-I, D-1I
(4) A-l1, B-1V, C-I, D-111

wwmﬁfa%maﬁ%ﬁﬁ*fﬁm?ﬁm
i 1 T HU:

A. ﬁﬁmmmﬂaﬁwmﬁm’rﬂn .

B. %memm@réa%am

C. SdE & HAEAl .

D. ﬁmw%mﬁ%éag\zw&%u
E. fRpaen @1 Ghpd T a8 FuT
ﬁwﬁwﬁ@mﬁrwmwaﬁ-

() A,E,B, D,C () B, A,C,D,E
(3) E,D,C,B,A 4) E,AD, C,B

mﬁamqwmqwgaﬁ%%a‘%ﬁﬂamﬂ‘féaﬁ

%1 a9+ B | _

e)) mﬁwmﬂqmg%r‘wfﬁa‘gwmr
¥ el R § T B

2 Wqﬁﬂiﬂmw%ﬂ%mmmﬁmé
e I & 1

E)) aﬁwqwiarmé@awm% s

2 ‘
(€] aﬁwqw’ratmaﬁ%mﬁﬁaa
1 ¥

I @ wew Ry @
mml:@mﬁmwm@ﬁmm
i T €|
amll:wﬁwﬁaﬁzﬁxv—vﬁa@m@mﬁ
e B T B E
wﬁqmmﬁ%maﬁﬁwﬁﬁdfﬁmw
(1) i we Ll maa ¥l
(2) wue 1 & Al HIA nTeaEl -
3) et | T & e wue EEEl
) 2 e 1 3% pert 11w &
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190 +rd A FT st Rty
190  Given below are two statements : tusiofn Fo [ 2 A i ﬁmquha% ST &mh
Statement I : Gause’s competitive (,;(C secies mw%ﬂqqﬂ%ﬁ?ﬂ Fﬁsﬁm%
principle states that two closely relatec Stl oxist b arer are “18Y (& |
competing for different resources caniiol == e 11 ¢ v o Fassrd %5;391?,;1&& % H‘RTF:@!
indefinitely. N, T i : o B gdhar :
Statemcnt) II : According to Gn'llllsle s ll}:l'l'i‘l‘]';{":s( ST%EET;T e e ¥ 198 ST Bty
duringcompetition, the inferior willbe eli ~T— 5 | ) , '
This may be true if resources are limiting. he T fre T Y % BT A e fg g ﬁlﬂm‘;@{w
In the light of the above statements, choose . 3T BT TIT B _
correct ansyer from the options given belof\};l.se ) Arif et 1 o e 11 areer ¥
q)) 1 Statement 1 and Statement Il are fl oy 2y e | e & afee B 1 s &)
Statement 1 is true but Statement 11 is false. (2) sraca X AfpT BT [T ag ¥
A3) gtatement I is false but Statement Il is true. (3) =& I nNaa ¥ L
(:4) Both Statement 1 and Statement II are true. (4) B HaT I X HAT |
191 The following are the statements about non- 191 93 W%Wﬁﬁm z.
chordates : . . A, TEST T E @ g adr &
A. Pharynx is perforated by gill slits. . angﬁaa o 2
B. Notochord is absent. . B. &Y ot T B
C. Central nervous system is dorsal. C. =g dbret a
D. Heart is dorsal if present. D. g afy suftad s T e
E. Postanal tail is absent.. E. 7&1 99 =B Bl &
Choose the most appropriate answer from the e Prapedl @ T TE SO BT 99T B

options given below :
(1) A, B&Donly (2) B,D &E only
(B) B,C&Donly (4) A &Conly

(1) ¥a@ A, BaiRD (2) %aw@ B,DaikE
(3) ¥a@B,C3RD (4) Fa@AsNRC

192 g [ &t gt 1 & arer At sii—
LS

193 Match List I with List II :

R6_Hindi+English ]

192 Match List I with List IT : T
ListI List I1
A. Exophthalmic I.  Excess secretion of A. TSRS L ﬁﬁ?ﬁﬁ BT AT
goiter, ' cortisol, moon face & GRIES |, TSI J2q
’ hyperglycémia T SRS @
B. Acromegaly II. Hypo-secretion B. oiferEn . o1s<iss S & o
’y of thyroid (ljlormonlf : - T
and stunted growth. . 9T T T g
C. Cushing’s— III. Hyper secretion C. fdi 1%!?,{111 II.  aEaEs grq’f:r & A
syndrome of thyroid hormone & SEY TE IHL FU
protruding eye balls. EPRIRET
D. Cretinism 'gr' IV. Excessive secretion D. $H3ar IV. gig swit &
of growth hormone. 7 B
gggc‘ft? the correct answer from the options given Porer Rrepedl & w8 ST BT AT B
: (1) A-1V, B-II, C-1, D-I11I

(1) A-1V, B-II, C-I, D-III
(2) _ A-Il, B-1V, C-II, D-I

A-IIY, B-1V, C-1, D-II
(4) A-I, B-III, C-IL, D-IV

193 qeﬁlaﬁ@ll%magﬁmw¥
T )

A-III, B-1V, C-I1, D-1
A-III, B-1V, C-1, D-11
A-l, B-111I, C-11, D-1V

(2)
(3
4

List I List IT g1
A. Mesozoic Era I.  Lower invertebrates
B. Proterozoic Era 1. Fish & Amphibia £ hi'gi'aai'ﬁsa‘ A fre= qu;{;fm
C. Cenozoic Era IlI. Birds & Reptiles ) g LSy
D. Paleozoic Era IV. Mammals C. drioigd qebed 1. wali o wlgd
Choose the correct answer from the options given D. tfvaioiss qeeed V. w@urd
below : e ferepedl & W& S &1 99T B

(1) A-II, B-1, C-II, D-IV
(2) A-lL B-II, C-1V, D-I1I
(3) A-II, B-I, C-1V, D-II
4) A-l, B-1, C-III, D-1V

44

(1) A-lI, B-I, C-II, D-IV
(2) A-L, B-II, C-1V, D-IIl
(3) A-ILB-L,CIV,D-II
(4) A-ILB-L, C-ILD-IV -
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194 Match List 1 with L :
e vith List 11 :

Li 194 g [ g 11 % wner gafea Ba-
A. Unicellular glandylar | g‘?‘l ". LEih] T
epithelium ' © Sulivary glands A. Uiy Uik [ e sfEt
B.  Compound epithelj 1. Paner ' m’ J
C. Multicellular & 1 anuf::\s il 3T
glandular epithelium 111. S,‘?‘blu, cells of B. #ya SUB . g™
D. Endocrine glandulara |V i\/[ 1)enlmy canal C. agamifyrenrd . STt e ﬁa
epitheliun e e as o) Tifbret S FHAT FIHTT
Choose the cmct answer from the opticne o) D. sfaerdy dfte sower V. q@ TE B w6
below : © options given ﬁt:{ ﬁm‘ [ q TE L Bl TIA H:
Mv’ B CL D1 (1) A-IV, B-III, C-I, D-I
A-TIL, BV, C-I, DI (2) A-IIL, B-IV, C-I, D-II
(3) A-IL B-I, C-IV. D11l ) AL B-1V, C-1, o i
(4) AL B-1, C-III, D-1V 83 DI
195 As per ABO blood grouping system, the blood £ ,
group of father is BY, mother is A* and child js | 195 ABO ®frt o sromreit & srat forem a1 s @t BY,
O. Their respective genotype can be Hrar &1 AT e = &1 Ot B 137 HH9T: IR 8
A. IR TIA G BT BB JATA a3 ¥
C. TMB/HA/IBiA D. JA{/IBi/ 1A A TBI/TAI/G B. IBIB/IATA/ii
B, L A : | C. TAB/iA/1Bi  D. IAi/IBi/IAj
Choose the most appropriate answer from the E. .iIB/iIA/IAB )
options given below : . ﬁm /e i
(1) Bonly g_ (2) C&Bonly y Tl & wo@ e ST @1 99T HU:
(3) D&Eonly «(4) Aonl r (1) Faw B (2) Faa C 3B
. L d ‘(3) ¥A@DARE (4) Fa@A
196 Match ListI with List Il related to digestive system
of cockroach. 196 famaes & urae O & Setua gt [ & g3t 1 & |
List I List IT . ﬁﬁfv’lﬁﬁ\ A
A. The structures used I.  Gizzard o
for storing of food. @l et - @
B. Ring of 6-8 blind II.  Gastric - A. AoE EORA HCI b Mg sTEm L quel
tubules at junction of T Caeca 3 T GXEA | |1
foregut and midgut. B. SIS 9 Hedis % SR U I @<
C. Ringof 100-150 yellow  III. Mlz;l[;ighian 6-8 aieT TRTEBTSN BT T I
coloured thin tubules : A 0 e
filaments at junction o C. ===« q%? %5% Tt q-;ﬁ HL Rt
midgut and hindgut. 100-150 dTet T s g
D. The structures used IV. Crop EIERE
for grinding the food.” Y . . ~ D. ¥ & dEs % fag IV. =gz
ghloose the correct answer from the options given I ST o
elow : fremeat I BT A9 BUA:
(1) A-L B-Il, C-III, D-1V ‘ vt Bl S e
(1) A-lL, B-l, C-l1,
(2) A-1V, B-II, C-I1, D-I i B L D-1
BIL CAV. DI (2) A-1V, B-IL C-11,
(1 ~A3V, BIL, CIL, D1 (3) A-IIL B-II, C-1V, D-1
. 'l’ i o - at i (4) A-1V, B-I1, C-111, D-1
197 Given below are two statements © . ]
Stl;l,tement I : Bone marrgw is the main lymphoid | 197 & < s+ f¥u T ¥: . .
organ where alle including lymphocytes Fo 1 1 oiRer wowTl G ST GT‘I'.% TRl TR
are produced. h afea @ o BRI S e T
Statement II : Both bone marrow and thymus o 11 2 QY ot FowT TE TEE S-wEH] 6
provide micro environments for the development it Q_q e 3 R G SR SE
and maturation of T-lymphocytes. . h
Inthelightofthe above statements, choose the most HFE TN . ' . MCPNE
appropriate answer from the options given below: S fw T HuA & v N e 9T
(1) oth Statement I and Statement II are T8 IR BT TG B %
incorrect. : 1) i wue | o wu 1o €1
2) _Statemetnt 1 is correct but Statement Il is Ezg o 1 & Ao we 1L .q:gé‘
incorrect. A A o il ;
3 t but Statement Il is (3) HuA 17T ¥ HelT
3) Eg:_:‘eeg:ent I is incorrec tate @) 2w | R wE L El -
(4) BothStatementl and Statement I are correct. i

R6_Hindi+English ] , :
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198  Given below are two statements ¢

Statement 1 : The cerebral hemispheres are
connected by nerve tract knpwii as corpus
callosum, N

Statement 11 ¢
medulla oblongata. pons and cerebrum.
In the light of ‘the above statements, choose the
most appropriate answer {rom the options given

The brain stem consists of the

2

below : g
(1Y Both ment 1 and Statement Il are
incefrect i
Statement 1 is correct but Statement 11 1s

incorrect. .
Statement 1 is incorrect but Statement 11 1s
correct.

(4) Both StatementIand Statement Il are correct.

199  Identify the correct option (A), (B), (C), (D) with
respect to spermatogenesis.
GnlIQH
I I
LH @ S
1 4
® ©
1 4
Androgens Factors
1 {
Formation of spermatids D)
(1) ICSH, Interstitial cells, Leydig cells,
spermiogenesis.
(2) FSH, Sertoli cells, Leydig cells,
spermatogenesis.
(3) ICSH, Leydig cells, Sertoli cells,
ermatogenesis.
( FSH, Leydig cells, Sertoli cells
spenmogenesxs‘,

200 Match List I with List II :

List I List IT
A. Pwave I.  Heart muscles are
electrically silent.
B. QRS complex II.  Depolarisation of
ventricles.
C. T wave 1. Depolarisation of
D atria.
D. T-Pgap IV. Repolarisation of
ventricles.
Choose the correct answer from the options given
belo

A-ILL, B-II, C-IV, D-I
(2) A-II, B-III, C-I, D-IV
(3) A-1V, B-II, C-1, D-III
(4) A-l, B-III, C-1V, D-II
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108 i &y aperet fam T ¥
woral wrﬁamrﬁ?“mtrz‘é‘rmﬂg
widar Fevan HEA ¥
et 11 ¢ aftcres @ AT Sl g,
e amax ¥
mf&rgmmﬂ&;-mﬂﬁﬁﬂf&w%mm
T W TLA FHU ;
(1) 2 @ [ 3 & 11 7Tere %
(2) @a [ |t & At BT 11 et 3
(3) @ | Terd & Af B a3
(4) @ wae [ S AT 1138 )

qpheTIe % dad 7 (A), (B),
qEaTl |

199 (C), (D)% %t ferzmn

(&)

©

Pt
g

ST, T BT, we SR,
NENEE]

PATIE

200 Tl <61 el 11 % wie gafvg wa—

TR T

Paa & A faegdra
T Bl €
frrerat w1 faggam
T 1. anfaeY @t fagaw
T-Piy IV. Tl s gaya
ot ferepelY @ Wt SeR 1w

(1) A-IlI, B-II, C-1V, D-I

(2) A-IL B-III, C-1, D-IV

(3) A-1V, B-II, C-1, D-IIT |

(4) A-1, B-III, C-1V, D-I1

A. L

QRS aftqg 1L

B.
C,
D.
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